“CSN W WIEEAT AR A Y
i N PO eV = 2 | G i L L 1 AP N8 i SR T
m H S m H S
R 1 A 2
SR g — L WRIs TE
(—) L&t 2 0.24| (—) fTBUHAL
L EAHE 5 9% 3 () A RGN AT
2. AN LB JOsAT YD 9 4
(1) A5 E 5 = EAER S —
(2) AFHTBATY4Ey 2 6 (—) FERgE T D
3. WA 7 0.24| 1. YT LE
(1> [HANHAr 8 0.24| 2. —A%HZE
(2) B B stk 9 3. AL 4
(=) MRS 10 — 4. R AR 4=
LRAHE 5 H4% (1S 11 5. HAhH %
2. IAHE (5 ANkE OO 12 () BAHME200 7 0L R ® & (F,
3. N M ER Gl 13
4. AGEHTERA R D 14
5. [N AFHARHILIR (4D 15 9
6. BN A AR (D 16 61




7.8 (B9 AMASHEAFEIR (A4S 17 35
8. [ (B AMAKHRF AR (D 18 36

T BT ER T PR CSOB BT IR AN S B gi itk




